* 8th grade standard
Algebra 1 5.1

Solve linear inequalities by using addition*
Solve linear inequalities by using subtraction*
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KeyConcept Addition Property of Inequalities

Words If the same number is added to each side of a true inequality, the resulting inequality
is also true.
Symbols For all numbers a, b, and ¢, the following are true.

1. fa> b thena+ ¢> b+g.
2. fa< b thena+c< b+c.

This property is also true for = and <.




How would you solve if =?
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Example 1
Solve x — 12 = 8. Check your solution.
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Solve each inequality. Check
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set-builder notation.
ReadingMath
set-builder notation X=
{x| x= 20} is read the set of x>
all numbers x such that x is
greater than or equal to 20. x>ao0
The heavy arrow pointing
The dot at 20 shows to the right shows that X ' Y29
that 20 is induded in the graph includes all S
the graph. numbers greater than 20.
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Smato: do we need this?
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KeyConcept Subtrilction Prog_erty of Inequalities

Words If the same number is subtracted from each side of a true inequality, the resulting
inequality is also true.

Symbols For all numbers a, b, and ¢, the following are true.
1. lfa>bthena-fc>b-Le.

2. fa< bthena—c<b-—c.

This property is also true for = and <.




How would you solve if = ?

Standardized Test Example 2

Solve m + 19 > 56.
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2. Solvep + 8 < 18.
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Example 3
Solve SCE‘L Then graph the solution set on a number line.
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Solve each inequality. Then graph |
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triangle puzzle (if time)



What are the 3 options?

ConceptSummary Phrases for Inequalities
< > < =

less than greater than at most, no more than, at least, no less than,
fewer than more than less than or equal to greater than or equal to )




“ Real-World Example 4

PETS Felipe needs for the temperature of his leopard gecko’s basking spot to be
at least 82°F. Currently the basking spot is 62.5°F. How much warmer does the
basking spot need to be?
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Real-WorldLink
Leopard geckos are
commonly yellow and white
with black spots. They are
nocturnal and easy to tame.
They do not have toe pads
like other geckos, so they do
not climb.
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